Obergeschoss

251

220

1.76
2.13°

BALKON
12,19 m?
- 98 22 S5
|
HUFTRAUM GALERIE
13,56 m?
botbe
H=90cm [ g TERN
11,00 m?
ANKLEIDE .
KIND e .
12,12 m? : o
/N
[ 1
BAD
’ 10,68 m?
KIND
12,12 m?
_I DU/BAD -
g 52 m? .
I: , = 1.20
~—
—lo N
2R_ &

1.01

1.51
1.20



Obergeschoss

251

220

1.76
2.13°

1.51

1.20

BALKON
12,19 m?
NS ER 5[5 g5
oo <~ 22 &
|
LUFTRAUM GALERIE
13,56 m?
o8
H=90 cm [l g TERN
11,00 m?
ANKLEIDE -
KIND ANKLE
12,12 m? d 2.20°
L / (IR
L1
BAD
5 10,68 m?
KIND
E [ ]
_I DU/BAD ol
- 52 m? 1 .
I: ’ = 1.20
e \
59 -
o s
—N =



